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Section 1

1. Draw diagrams to show how (1) o rey) dimillished o
3 rivtiral Tvva s Nar.
real enlarged image, () a virtnal image cay J ag

! . f‘OI‘mc(]_ hy ;;’ (") a
concave mirror, Y Use of
An object, of height 4 ems., is 10 ¢ distant, from ,

irror of 20 cms. focal length.  Find the ysit; & Congyy,

mirror of 20 cms. foca BU i the position, pagy, and g,
: Ul

of the image. ‘ Siy,
2. State the laws of refraction of livhi, What g meant ..,

> . Jy

critical angle 7 Show how vou woulid ‘ind the Index of refr:irt'hp
o : cti

of the glass of a given glass cube, on

3. Give an account of a method hy

\.'ili(‘}l ﬂ)(’, \'(‘]()('ity ()f “"llt ]]as
been determined.

4. What essentials are necessary for the form
spectrum on a sereen.  Illustrate hy a dinoram. the
light through the system.

ation of 4 Puire
path of a hean of

Write a short account of the rainbow and st

69

ate how it accurs,




Section 1I.

in the termaceeleration.  Deseribe a method for

: determip-
ation due to gravity,
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5. B

v ‘(‘(‘]l]l
.o the €
ing

\ body moving with uniform acceleration J and whose initia]
oo traverses the space s in time t. Show that s=ut--1 f1.2
listance traversed by the body,

6. A
‘.C]ocit‘.‘,' 1B
R the ¢ . 5 v
gy pody is allowed to fall from the top of a tower and strikes the
A after 5 sees.  Find the height of the {ower.

32 ft.[sec. [sec.]

pound
lg=

- Define : force work s power. A cyelist and bis machine
| 'UI-I 180 Ibs. At what horse-power must he work in order to ascend
\\C;: e of 1in 30 at 5 miles per hour i it is assumed that the resistance
q1r51 231(1&10“ to that due to the weight of vider and machine) is equivalent
¢ - > 7
0 a force of 4 Ibs. acting parallel to the slope 2

g, What is ““enerey " ¢ What is known as the principle of the
. ‘ PR,
conservation of energy ?

Deseribe a method for finding the mechanieal equivalent of heat,

Seelion TiI,

9. Explain the presence of neutral points near a bar magnet.

Indicate the resultant field and the positions in which you would
expeet to find the neutril points when the North Pole of the magnet,
Jying in a horizontal plane, is made to point (@) North, (b South.

10. Deseribe the gold-Lead cloctroscope and explain what is observed
when a conductor {a) positively charged, (b) megatively charged,
(¢) earthed is brought near o positively charged eleetroscope.

11. What is an eln(:l,mumgm':t ?

Explain fully, with the aid of g dingram, how an electric bell
works.

12, State Ohin’s Law,

You are given two picces of wire,

Describe fully how you would
compare their resistances.




